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1.1 Steinhart-Hart F12i18%

1/(T+273.15)= Ap+ AixIn(R) + Ax[In(R)1?+Asx[In(R13* + A x[In(R)]*
T BE, BAIRKE (°C)
R ERk=RSLPRFEIR(E, BB (Q)
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1.2 Basic FizitEi%

R= Roxexp[Bx(1/(7+273.15)-1/298.15)]

T BE, BAOREKE (°C)

R fERERSEFREEFEE, BURE (Q)

Ry NTC 7£ 25°CRRIEERE(E R(25°C), BR{ZEE (Q)
B ERER fESE

CIEEERETEA: 7= 1/(1/(298.15)+1/A*In(R/A))-273.15

02 PT $geBpH

1.1 -200~0°CiRECE

R= Rox[1+Ax T+ Bx P+ Cx(T-100) 7]
T BE, BIBRE ()
R {ERISESERRFEMEAE, BAIEE (Q)
Ry PT 7£ O°CRIMYFRIAME, BB (Q)
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1.2 0~800°CiREEE
R= Ryx[1+Ax T+ Bx T*]
T BE, BAABKE (C)
R {ERISESIhRERIRME, BIERIE (Q)
R PT 7£ O°CHYRYFEFE(E, BAFIRRKEE (Q)
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T=Ap+A* R+ A* R+ As* R+ A * R+ As* R+ A* R+ A* R’

T BE, BAIREE (°C)
R ERk=RSLPRFEIR(E, BB (Q)
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